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 Though he is poor
1) he was honest
2) but he is honest

he is honest

The antonym of the word 'flexible ' is

1) changeable

hard

4) but he was honest 3) elastic
4) ductile
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The Synonym of the "Witty' is The antonym of the word ‘adverse’ is
1) boring 1) negative
clever 3 Enf?f.lfourable
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m 1) help
2) T9 2) helped
3) Drferfemra Wf:luld help
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You'll fail in the exam, if you--- from school. Every mother loves her child( negative)
1) put off 1) there is no mother loving her child
2) put out 2) every mother can not but loves her chilg

3) take to task
Play Truant.

3) no mother loves her child
There is no mother but loves her child
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Noun form of the word 'Long’ is

E length

Verb form of the word 'Danager’ is
1) dangerous

2) longest 2) dangerlly

3) lengthen Endanger

4) longer 4) dangerously
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Hardly had | reached school __
[D)]when the bell rang

2) then the bell rang

3) than the bell rang

4) after the bell rang
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His ---—-----=-mm--- pleased us all. The adverb form is 'Heart' is
1) silver spoon 1) heart
2) well and woe heartily
B} Maiden speech 3) hearten
4) slow coach 4) heartly
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[L] He is my brother

2) He is my elder brother
3) He is my own brother
4) He is my step brother

1) | have no pen to write

2) | have no pen for write

3) | have no writing pen

4)|1 have no pen to write with
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Let the sentence be ( pen) through The man was .......... for murder
1) pened 1) hung
El penned 2) hang
3) penning %Ea“ggzd
4) pen ange
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Without working hard, you cannot | ----- He is coming today
shine in life. (Make it complex sentence) 1) At length
<) In spite of working hard, you cannot shine in life EITEH to one
%) Though he works hard, he cannot shine in life 3) All in
Unless you work hard, you cannot shine in life 4) At large
¥) Unless you do not work hard, you can't shine in life
JN: Ay N 4R




UPID IICFAR CFaea 18 313 =,

TIROIRFIE AP0 T AT BOBE

PR 07 et 53 FHGR 9 Ude OR AR
[i] » o You fHoR 2, gt 3 2% =2
2) 0 fiom 1) 833 03
3) » b 280 3 2
4) >R e 3) Vb \3 VY
4) 80 \3 @3
AN qo: HN: a8:
PQRS AWSRATFALP = 100°, =& £Q 0TS e 4t =16 e 3 FHitR Bo@ e
G A F97? ftes 1 20 WiArens s 4 o Ry
1) 120° =l e Y04 SOl P07
Blso° 1) o fiom
3) 100° 2) » RBw
4) 90° B ¢ 7ow
4) q fToR
AN a¢: QW qu:
R odeTE T TE - a=ve6+V/5 &,
i, 308 =i =g grmde eoig 7w (a °-1)/a 3 QI A FO?
ii, TYEY (@1 qF AT 1) 43v5
iii, J0TT A A G (F& (ACF FAGEIS 2) 4776
ToltEa orUE Wi fAse @i A B 46v5
) i9ii [=014, ii @ iii 4) 45V5
o) ii '@ iii %) i@ iii
aN: QaAa: AN av:
ez faerew e tlf 1f ‘e 23, 5log3 — log9 =7
OIRETOR = 1)log10  3)log 3
1)v3Ra“® 2)log 27  4)log8
2)V3/4
V3/da?
4)V3/2
aN: an: AN vo:
a WIAIPOAT9- 12X + ax log,(1/16) = - 2 T, x @9 Tq FS7
9B “1fasf Z1? ) 3 %) 5
1)2 Bl4 )4 96
2)5 4) 3
aW: vy aN: vk

81) 2 10 5RATA QTFE 54 & THS 18 T, TS

n2 21 [3]3 4)4

a9 ¢ B Ay 1T 3¢ AW, 7w ¢ wim
YR T wo A, TOF Wit FO?

F) 2@ 8o
) »o 9) ¢o
qY: o AN v8:




Ul frgrer ft R Swor Rea wrers v o1.fa. @,
frgwita craes byo I G, 7=, 9g Swor FU?

X3 +6x2y +1lxy 2 + 6y >
K BN TG ?

nseifi. [Blereif 1) (x+y)(x+4y)(x+5y)
2) 24 GI 3. 4) 28 GI 3. 2)]x+y) (x+2y) (x+3y)
3) (x+y)(x+3y)(x+5y)
4) (X+y)(xy)(x+2y)
AN vé: Na kAR VALK
@A TG SAIAT ? fasg e Fer Bass ==
e 3) Iifo <) ©izfq <) G
2)HGIH  4) AT o) TE q) FeTar
aN: va: aN: vy
‘ww 13 Rerdie oo a5 ? EGIR B[ B’ QU “Od q’ (@1 TP @1 [ofe?
" 5 (Gz_cﬂ?ﬂ R GL 3) TPACT 9Ft
2) » 4) =5 2) A qal 4) TEImIed q&t
AN b AN »o
TGRICR AR FeTo [RoR \3oR/ [ e? A ----- in time saves nine
@W 3} AOIFAR 1:' stick 3) strict
2) Frfice 4) TSGR 2) stich  [4) stitch
AN &Y Ra kAR
BTG @1 (TN AT T2 IR FLRYIA Fearo FU0?
3) Ered
[=ema 4; ( 1) 3% 8 i
2)oT2 T 2)0f 4 v
Y »o: Y 98:
@ ¥2m faaaa 39t @2 IR O AOTRGT IH?
5 TSI SRR Y%
AR 7 3) fiod 79 ;Dao @aﬁ%iq;qq ii zz@’rﬁﬁ% za:i
2) 1iE v 4) afige = B |
a A -t AN S
TP 4T YR IR O AT? MECCR ARE 1G o0 207
1) S 3) @i 1) 20¢ oI 3) R0v GiTHE
ARG 4) i [2)] 200 crsfs 4308 i
aN: da: qAN: S
AforeEnE 9600 ¢ @rmm? ‘SIS ATV I LR M7
1) @R [3] chefe 519 <) VAR <) 7o
2)TFOE  4) AT W Eﬁm ) e
AN 5 AN Yoo:
The Padma is or;e s;f the biggest sfQ FIBTH AdiToN Here! (FAH?
z;:” mfa@“ e 'épc’s'fze)h . ) e an serer <) FyEEw were
ery EW river in EIIlg ddesil 1s as lg as the Padma ‘S‘I‘) a %' : » E[) ? : T

Very few rivers in Bangladesh are as big as the Padma
) No other river in Bangladesh is so big as the Padma

9) No other rivers in Bangladesh are as big as the Padma




